ĐỀ THI CHỌN HỌC SINH GIỎI MÔN SINH HỌC TIẾNG ANH 9
NĂM HỌC 2017- 2018

Ex 1:  In the case of complete dominance , the hybrids give the phenotypic ratio
3:3:1:1
Ex 2: The division of the genetic  pair Aa in F1 produces two types of gametes with scaling:

Ex 3: The self-replication of chromosomes occurs at any point in the cell cycle:


Ex 4: . Which RNA have the direct function of transmitting genetic information?

Ex 5: The number of chromosomes in the body of 3n in peas is:

Ex 6: The chromosomes in fruit flies have 2n = 8, 1 cells are then molecules will have a single set of chromosomes is how much?

Ex 7: The relative amount of amino acids and nucleorids of mRNA in the ribosome is




Ex 8: Each twist cycle of 34-well DNA consits of 10 pairs of nuclite. So the length of each pair of nuclite is:

Ex 9: See the following illustration and determine what type of mutation it is: 

    ABCDEFGH   ------( ABCDEFG

Ex 10: Dysplasia is an increase or decrease in the number of distant chromosomes in:

Ex 11: 
a. Identify the nature of the relationship between the gene and the trait:

       Gene (A piece of DNA) ----( mRNA ----( Protein ---( Characteristics

         b. Identify the causes of genetic diseases and diseases in humans? 
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NĂM HỌC 2017- 2018
Ex 1:     AaBb x Aabb
Ex 2:     3 A : 1 a
Ex 3:     Intermediate stage
Ex 4:     mRNA 
Ex 5:     21
Ex 6:     4
Ex 7:     3nuclite per 1 amino acid
Ex 8:     3,4 Ao
Ex 9:     Chromosome  missing 
Ex 10:   In one or several pairs of chromosomes in the cell
Ex11 : 

a. The sequence of nucleotides in the DNA template regulates the sequence of nuclite in the mRNA, which then sequences the amino acids in the first-order structure of the protein. The protein directly participates in the structure and physiological activity of the cell, thereby expressing the characteristic of the body. Thus, via the protein, the gene and the trait are closely related to the nahu, specifically the gene that regulates the trait.
b.    Environmental pollution (toxic chemicals, war, pesticides, herbicides, intracellular rearrangement disorder ...)
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